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1. FBREABAREDSE
(1) RIL FEFBEABREDSE

M8-k}l/ F@*Vﬂﬂﬁ%ﬂ&ﬁﬁ*ﬂ scAb = 6 (mm)
RHEATIER Q= 1/3 % (205 / V'3) * 36.6 = 1444(N) = 1.4 (kN) (3¢ 143kgf)
EEARER 0, = 1/2 % (205 / ¥'3) * 36.6 = 2166(N) = 2.2 (kN) (3¢ 224kgf)

(2) avy)—FrXEREIZKEA HP— FE#@%&&'EHE@?%Z
Ao —FOME O 1 4WEE LA, = 153 9(mm2)
EHATBIERF 0, = 1/3 % 427.8 * 153.9 = 21946 (N)

1.9 (kN) (3% 2235kgf)
SEEATTERF 0, = 2/3 * 427.8 * 153.9 = 43892 (N)

3.9 (kN) (3% 4480kgf)
Q= Min@Q,, Q) K YHFBREBAMEER, REFER1.4KN) . BEHREER2.2KN) T 5,
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AYHETEE c(mm)ET B, B)FEKKY Q3= 1/3 % 1.7 * (0.5 * 3.14 * c?) > 1444(N)EH D c TETETBE. ¢ > 41(mm)ElE D
PIEHTIEANYHETEEZMHREDOIBLULEEL TS, 1A 14 DERE 14mm * 3=42mm UL EZAYHETEET S,
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